

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

08/12/2025 09:00 AM | Drive team Leaving 08/13/2025 09:00 AM | Team Fliight to Aspen

PO:

81611

Shipping Address:

HIGHLANDS ALEHOUSE

133 PROSPECTOR ROAD, ASPEN, CO

Invoice Date: Due Date: Upon Receipt

08/13/2025 09:00 AM | Drive team to arrived to Aspen

Salesperson: Romina Manolio

08/14/2025 09:00 AM | Install Day 1 -Cocktails

08/15/2025 09:00 AM | Event Date

08/15/2025 09:00 AM | Install Day 2 / Event

08/16/2025 09:00 AM | Strike.

08/17/2025 09:00 AM | Drive team and Crew

Flight back To LA

Description		Qtty	Price		Total
Entrance - truc	ks Decor				
	CowHide	3	\$204.00	Т	\$612.00
	Guitars and Amp Sub rental With Stand From Omega	1	\$420.00	T	\$420.00
	Tibby Coffee Pouf Found Rental - Delivered to venue	2	\$130.80	T	\$523.20
	Canella Side table Found Rental - Delivered to venue	1	\$93.60	Т	\$187.20
	Perry Side Table Found Rental - Delivered to venue	1	\$93.60	T	\$187.20
	Blankets & Throws Navajo & Furry	4	\$72.00	T	\$432.00
		Total Entr	ance - trucks De	cor	\$2,361.60
Intrance					
WW	Dining Table - Aspen - Dark Wood For Candle Moment 7'W x 40"L x 30"H	1	\$345.00	Т	\$690.00
	Custom Made Teepee 6' Diam x13'H	1	\$2,160.00	T	\$3,240.00
	Panels - Reclaimed Wood 8'x10' To be used as Seating Card with Branded Details 8' x 10'H - Wood Tone May Vary	4	\$900.00	Т	\$7,200.00
	Sawyer Ivory Chairs Found Sub Rental Delivered to venue	2	\$326.40	Т	\$1,305.60
	Kelvin Stands Found rental Delivered to venue	5	\$99.60	Т	\$996.00

Description		Qtty	Price		Total
	Blake Side Table Found Sub Rental - Delivered to venue	1	\$93.60	T	\$187.20
	Jasper Side table Found Sub Rental - Delivered to venue	1	\$121.20	Т	\$242.40
	Dayla Pouf Found Sub Rental - Delivered to venue	2	\$130.80	Т	\$523.20
	Area Rugs To be under teepee Cow Hide	2	\$204.00	Т	\$816.00
	Blankets and Throws Navajo and Fur	4	\$72.00	Т	\$576.00
	Mix and Match Pillows	6	\$36.00	Т	\$432.00
			Total Entra	nce	\$16,208.40
Cocktail tables					
7	Small Dining Tables - Manchester - Dark Wood To be used with venue chairs (red) 36â® Irnd x 30â® IH	10	\$345.00	Т	\$5,175.00
			Total Cocktail tal	oles	\$5,175.00
Cocktail Lounge	s				
	Sofas - London - Chesterfield 02 86"W x 40"L x 31"h	2	\$552.00	Т	\$1,656.00
	Sofas - Manchester - Leather Sofa 73âN N W34âN N ±33âN N H	2	\$414.00	Т	\$1,242.00
•	Tadeo Indigo Couch Found Sub rental Delivered to venue	2	\$744.30	Т	\$2,977.20
	Coffee Tables - Hamptons - Wood Frame W/ Trays 47"L x 47"W x 18"H	4	\$331.20	Т	\$1,987.20
	Coffee Tables - Hamptons - Wood Top & Metal Frame W/ Nesting Tables 44"W x 44"L x 16"H	2	\$331.20	Т	\$993.60
	Accent Table - Manila - Round Carved Wood 15" 15"Diam x 15"H	6	\$110.40	Т	\$993.60
M	Accent Table - Santa Fe - Wood Derby Round 16"Diam x 12"H	2	\$110.40	Т	\$331.20
	Carden Petite Side Table	2	\$66.00	T	\$264.00

Description		Qtty	Price		Total
	Gunther Side Table Found Sub Rental - Delivered to venue	4	\$93.60	Т	\$748.80
	Club & Lounge Chairs - Manchester - Exposure Club Chair 33"W x 33"L x 43"H	4	\$345.00	Т	\$2,070.00
	Club & Lounge Chairs - London - Pony Chair Brown 32"W x 38"L x 42"H	2	\$276.00	T	\$828.00
	Club & Lounge Chairs - Manchester - Wing Back Club Chair 33"W X 37"L X 39"H	2	\$276.00	T	\$828.00
	Viola Neutral Armchair Found Sub Rental Delivered to venue	4	\$326.40	Т	\$2,611.20
	Scottie Nuetral Chair - Found Sub Rental - Delivered to venue	2	\$326.40	Т	\$1,305.60
	Zoya Wingback Armchair Found Sub Rental - Delivered to venue	4	\$326.40	Т	\$2,611.20
	Cadbury Armchair Found Sub Rental - Delivered to venue	2	\$261.60	Т	\$1,046.40
	Barna Armchair Found Sub Rental - Delivered to venue	4	\$292.80	Т	\$2,342.40
	Ottomans - Standard Pod Dark Weathered Leather 18"RND x 17"H - Cover Color Upon Request	24	\$60.00	Т	\$2,160.00
		Tot	Total Cocktail Lounges		
Bars For Cockta	ils				
	Jacumba Bar For tequila bar Found Sub Rental - delivered to venue	1	\$900.00	Т	\$1,800.00
	Oversize Props - Canoe W/ Base To be used as Beer Tub 183âN N W36âN N 1036âN N H	1	\$690.00	Т	\$1,035.00
	Bars - New York - Folding 8' in Mahogany Off broadway Color with Insert to be Cow Skin - to create (2) 16' Bars 8'W x 30"L x 42"H - Color Change Upon Request	4	\$1,440.00	Т	\$8,640.00
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal With Wood Covering IN Mahogany Off Broadway - To create (2) 16' barback 8'W x 18"L x 8'7"H - Frame Color Upon Request	4	\$540.00	T	\$3,240.00
		Tota	I Bars For Cockt	ails	\$14,715.00
Cocktail Soft Go	ods				

Description		Qtty	Price		Total
	Mix & Match Pillows Cow hide , Leather , Denim ,	60	\$36.00	Т	\$3,240.00
	NEW NAVAJO Throws to Cover Railing Please see Details on Deck to the Ones Brides likes	40	\$72.00	Т	\$2,880.00
	NEW Navajo Throws & PLAIN For Lounges For Lounges	30	\$72.00	Т	\$2,160.00
	Rug - Faux Sheepskin - Off White 25 5/8"W x 39 3/8"L	15	\$30.00	Т	\$675.00
		Total (Cocktail Soft Go	ods	\$8,955.00
Area Rugs For	Lounges and surroundings				
	New Montana CowHide	20	\$204.00	Т	\$4,080.00
	NEW Navajo Rugs Please see Client Preference on Decks	12	\$780.00	T	\$9,360.00
	Area Rugs - Montana - Cowhide 01 5'8"W x 6'5"H	1	\$204.00	T	\$306.00
*	Area Rugs - Montana - Cowhide 02 5'9"W x 6'H	1	\$204.00	T	\$306.00
	Area Rugs - Montana - Cowhide 03 5'3"W x 5'11"H	1	\$204.00	T	\$306.00
	Area Rugs - Montana - Cowhide 04 5'4"W x 5'11"H	6	\$204.00	T	\$1,836.00
	Area Rugs - Montana - Cowhide 05	1	\$204.00	T	\$306.00
	Area Rugs - Montana - Cowhide 06	1	\$204.00	Т	\$306.00
	Total Area Ru	gs For Lounge	s and surroundi	ngs	\$16,806.00
Cocktail Extra I	Decor Elements				
	Mix & Match - Decor Element to Style bar + Coffee tables Oil lamps - smaller props - OMEGA PICK UP	1	\$48.00	Т	\$72.00
	Ropes for Railing OMEGA PICK UP	1	\$1,440.00	Т	\$1,440.00

Description		Qtty	Price		Total
	Barstools - Montana - Horse Saddle Chair Saddles to be used for Railing - Only Saddles NO BASES 32" x 32" x 31"H - One of a kind - Color may Vary	8	\$269.10	Т	\$3,229.20
		Total Cocktail E	xtra Decor Eleme	nts	\$4,741.20
Dinner - Bars					
	Bars - Tahoe - Reclaimed Wood Folding 8' 8'W x 30"L x 42"H	4	\$420.00	T	\$2,520.00
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal Wood Facade - Color match the Reclaimed Bar 8'W x 18"L x 8'7"H - Frame Color Upon Request	4	\$372.00	Т	\$2,232.00
			Total Dinner - B	ars	\$4,752.00
Diner Decor					
	Custom Made Bandana Ceiling Strands Approximately - 1000 Bandanas different Colors	1	\$1,200.00	Т	\$1,200.00
	Custom Made Rug Patchwork Stage bak Drop 20x 10'H Approximately one layers Patch work	1	\$3,000.00	Т	\$3,000.00
	Custom Made Dj Booth With Brown Emboss Leather- Matching as close as posible the Leather Table Cloth	1	\$1,440.00	Т	\$1,440.00
			Total Diner De	cor	\$5,640.00
Chandelier					
	Pendant Lamp - Fiji - Bell Wicker Small 14âN N Diam 16âN N H	30	\$144.00	T	\$6,480.00
	Pendant Lamp - Fiji - Bell Wicker Medium 18â\ \(\text{Diam} \) Diam 21â\ \(\text{H} \)	30	\$144.00	Т	\$6,480.00
	Pendant Lamp - Fiji - Bell Wicker Large 22â	30	\$210.00	T	\$9,450.00
			Total Chande	lier	\$22,410.00
After Party					
	Garden Fire Pit - Whitewash 01 For Lounge Outside Base 62"W x 45"L x 18"H - Fire Pit 28"W x 14"L x 24"H	2	\$540.00	Т	\$1,620.00
	Dj Booths - Santa Barbara - Moulding - Multicolor Painted Magohany Off Broadway - Cow Hide Front 47"W x 25"D x 48"H - Custom Color Upon Request	1	\$1,020.00	Т	\$1,530.00

Description		Qtty	Price		Total
I	Stand Up Tables - Manchester - Dark Wood 36â\ Mrnd x 42â\ M	9	\$379.50	T	\$5,123.2
•	Mix & Match Pillows -	45	\$36.00	T	\$2,430.0
	Tchotchkes For After Party Flags , Darts , Vintage metal signs, Tavern Signs, OMEGA PICK UP	1	\$6,600.00	Т	\$6,600.0
	Tommy Bar Sign Found - Delivered to venue	1	\$65.40	Т	\$130.8
	Tracker Red Arrow Found - Delivered to venue	1	\$465.60	Т	\$931.2
			Total After Pa	arty	\$18,365.2
Table and But	fet Displays				
	Potina Riser Found - Delivered to venue	3	\$26.40	Т	\$158.40
	Acoma Stand Found - Delivered to venue	1	\$46.80	Т	\$93.60
	Alastair Riser Found - Delivered to venue	1	\$46.80	Т	\$93.6
	Alessio Riser Found - Delivered to venue	1	\$46.80	Т	\$93.6
	Essie Tiered Tray Found - Delivered to venue	1	\$46.80	T	\$93.6
	Amos Riser Found - Delivered to venue	2	\$26.40	Т	\$52.8
	Abbey Tiered tray Found - Delivered to venue	2	\$56.40	Т	\$112.8
	Randy Metal Riser Found - Delivered to venue	10	\$26.40	T	\$528.00
	Tasha Riser Found - Delivered to venue	3	\$42.60	Т	\$255.60
	Brock Wooden Tray Found - Delivered to venue	4	\$34.80	Т	\$278.4
	Tryne tray Found - Delivered to venue	10	\$37.20	Т	\$744.0
		Total Table	and Buffet Displa	ays	\$2,504.4
General					
	Fabric to Hide Trailer Restrooms Aprox 100 x12'H on Pipe and Base with Valance	1	\$2,040.00	Т	\$2,040.0
			Total Gene	eral	\$2,040.00
Services					

Description		Qtty	Price	Total
	Transportation Of Goods From LA To Aspen	3	\$1,700.00 T	\$5,100.00
	Crew to Drive trucks to ASpen from LA - 3 drivers	1	\$7,800.00	\$7,800.00
	Hotels For Crew on the drive back and Forth	2	\$800.00	\$1,600.00
	Per diem. for team driving from La to aspen Working and Drive backs	3	\$679.00	\$2,037.00
	Crew to Flight to ASpen	5	\$500.00	\$2,500.00
	Crew to Flight to LA	5	\$500.00	\$2,500.00
	Per diem For Crew Wednesday to Monday	5	\$582.00	\$2,910.00
	Hotels fro Crew From Wednesday to Monday	4	\$0.00	\$0.00
	rental car SUB for Crew	1	\$0.00	\$0.00
	Sub rental - Manage Fee - TBD	1	\$3,500.00	\$3,500.00
	Sub Rental - Supples & Misc - Damage Fee And Others	1	\$2,000.00	\$2,000.00
	Day 1 - Labor & Delivery -TBD	8	\$650.00	\$5,200.00
	Day 2 - Labor & Install - TBD	8	\$650.00	\$5,200.00
	Strike Team - TBD	8	\$650.00	\$5,200.00
	Supplies: Misc Command stripes , Cables , etc.	1	\$0.00	\$0.00
Please make che	cks payable to Revelry, Inc.		Total Products:	\$151,670.25
Note: Prior to del	iveries and pick-ups all invoices must be pay in full	Total L	abor/Services/Misc:	\$45,547.00
Please ready the contract and sign it Notes		Wear & Tear (4.00%): Packing (2.00%):		\$6,066.81
				\$3,033.41
.10100		Taxes (tax excempt):		\$0.00
			Discounts:	(\$0.00)
			Total: Payments:	\$206,317.47 (\$0.00)
			Balance:	(\$0.00)
			Dalatice.	Q200,017. 4 7